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QUESTION 1

Which backup method is optimized for use when the backup exceeds the backup window, the files being backed up
have relatively little daily change and not having to scan the file system looking for changed files would benefit the
backup window? 

A. Selective backup 

B. Journal-based backup 

C. Full incremental backup 

D. Partial incremental backup 

Correct Answer: B 

 

QUESTION 2

There are NAS filers that need long term archival retention of some but not all files. Which two actions will resolve this in
IBM Tivoli Storage Manager? 

A. UseaCIFSorNFStomounttheNASvolumes. 

B. Use the Backup-Archive client with the Archive function. 

C. Use the NDMP backup function with the Archive option. 

D. Use the Backup-Archive client with the SNAPDIFF option. 

E. Use the SnapMirror to Tape function to protect the the NAS volumes. 

Correct Answer: AB 

 

QUESTION 3

How is an orphan stub file resolved when encountered by an IBM Tivoli Storage Manager Hierarchical Storage Manager
for Windows reconciliation job? 

A. The stub file may be sent to the Recycle Bin. 

B. Rename the stub file to cause the original item to be recalled. 

C. The item pointed to by the stub file may be restored if a backup is available. 

D. The item pointed to by the stub file may simply be recalled by double-clicking on it. 

Correct Answer: C 

 

QUESTION 4
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Why would an IBM Tivoli Storage Manager (TSM) trace be run? 

A. To find a lost encryption key. 

B. To filter messages from the active log. 

C. To help troubleshoot at the request of Level 2 Support. 

D. To check the data path between the TSM client and server. 

Correct Answer: D 

 

QUESTION 5

What is the purpose of the dsmserv.opt ACTIVELOGSIZE option? 

A. It defines the size of the active log. 

B. It adds additional space to the active log. 

C. It updates the amount of storage space for active versions with a reboot. 

D. It updates the space allowed for the activity log in the Tivoli Storage Manager server without downtime. 

Correct Answer: A 
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